



Name: _____

Date: _____ Score: _____

$$(-6)^{(-1)} - (-8) =$$

$$(-2)^{(-2)} - 7 =$$

$$3^2 + (-1) =$$

$$8^{(-1)} + 7 =$$

$$(-8)^{(-2)} + (-1) =$$

$$5^0 - 2 =$$

$$(-9)^2 + (-4) =$$

$$4 + (-10) =$$

$$1^{(-2)} - 1 =$$

$$4^2 - (-9) =$$

$$6^{(-2)} + 2 =$$

$$(-7)^{(-2)} - 6 =$$

$$2^{(-2)} + 4 =$$

$$10^{(-2)} + 2 =$$

$$6^2 + (-7) =$$

$$(-8)^{(-1)} + (-9) =$$

$$(-9)^2 - 1 =$$

$$(-2)^0 + 9 =$$

$$10^2 - 8 =$$

$$2^{(-1)} - 1 =$$



Name: _____

Date: _____ Score: _____

$$(-6)^{(-1)} - (-8) = \frac{47}{6} = 7\frac{5}{6}$$

$$(-2)^{(-2)} - 7 = \left(-\frac{27}{4}\right) = \left(-6\frac{3}{4}\right)$$

$$3^2 + (-1) = 8$$

$$8^{(-1)} + 7 = \frac{57}{8} = 7\frac{1}{8}$$

$$(-8)^{(-2)} + (-1) = \left(-\frac{63}{64}\right)$$

$$5^0 - 2 = (-1)$$

$$(-9)^2 + (-4) = 77$$

$$4 + (-10) = (-6)$$

$$1^{(-2)} - 1 = 0$$

$$4^2 - (-9) = 25$$

$$6^{(-2)} + 2 = \frac{73}{36} = 2\frac{1}{36}$$

$$(-7)^{(-2)} - 6 = \left(-\frac{293}{49}\right) = \left(-5\frac{48}{49}\right)$$

$$2^{(-2)} + 4 = \frac{17}{4} = 4\frac{1}{4}$$

$$10^{(-2)} + 2 = \frac{201}{100} = 2\frac{1}{100}$$

$$6^2 + (-7) = 29$$

$$(-8)^{(-1)} + (-9) = \left(-\frac{73}{8}\right) = \left(-9\frac{1}{8}\right)$$

$$(-9)^2 - 1 = 80$$

$$(-2)^0 + 9 = 10$$

$$10^2 - 8 = 92$$

$$2^{(-1)} - 1 = \left(-\frac{1}{2}\right)$$